ELEC 2200-001 Digital Logic Circuits 
Fall 2010
Homework 2 Problems
Assigned 9/8/10, due 9/14/10

Problem 1: Multiply 4-bit 2’s complement integers, 0110 × 1100, to obtain an 8-bit result. Show the steps of computation.
Problem 2: Carry out the calculation steps for 4-bit binary division of positive numbers 1000/0101 (i.e., 8/5) using either the restoring or non-restoring division algorithm.
Problem 3:  For 4-bit 2’s complement binary integers, construct 5-bit even and odd parity codes by adding a parity bit in the most significant bit position.
Problem 4: Interpret the following 32-bit binary data:




1110 0001 1110 0010 0110 0011 0110 0100

as

(a)
2’s complement integer.

(b) 
Characters from 8-bit ASCII code with even parity (See Table 1.11 and Section 1.53 of textbook).

(c) 
Single precision IEEE 754 floating point number.



























































